
Commercial Geography Icom Part 2 English Medium Online Test

Sr Questions Answers Choice

1 During 2014-15, production of pulses was:
A. 500 thousand metric tons
B. 528thousand metric tons
C. 1000thousand metric tons
D. 1200thousand metric tons

2 During 2014-15, area under pulses and oilseed crops was:
A. 1.73million hectares
B. 1million hectares
C. 2.01million hectares
D. 3.01million hectares

3 During 2014-15, production of cash crops in Pakistan was:
A. 50 million metric tons
B. 45.0million metric tons
C. 76.8million metric tons
D. 90million metric tons

4 During 2014.15, area under cash crops in Pakistan was;
A. 4.357 million hectares
B. 4.5million hectares
C. 5.0million hectares
D. 5.2million hectares

5 During 2014.15, our production of food crops was:
A. 30 million metric tons
B. 25million metric tons
C. 37.498million metric tons
D. 20million metric tons

6 During 2014-15, area under food crops in Pakistan was:
A. 13.560 million hectares
B. 10.0million hectares
C. 15.00million hectares
D. 18.2million hectares

7 In Pakistan, per hectare yield of our crops is:

A. Not up to international standards
B. Much less than international
standards
C. Up to international standards
D. More than international standards

8 In 2013-14, Pakistan's record wheat production was ?
A. 20 million metric tons
B. 25.98million metric tons
C. 20.5million metric tons
D. 15.2million metric tons

9 In Pakistan, how many agricultural farms are ?
A. 8.264 million
B. 5.0million
C. 10.2million
D. 7.0million

10 Pakistan's 25 percent farmers, possesses agriculture land:
A. Less than 4 acres
B. Morethan 10 acres
C. Less than 15 acres
D. More than 20 acres

11 Pakistan earns its more than 60 percent foreign exchange:
A. By exporting minerals
B. By exporting hides &amp; skins
C. By exporting agriculture goods
D. By exporting rice

12 Major cause of backward ness of agriculture in Pakistan in:
A. Fast increase in population
B. Backwardness in technology
C. Unavailability of land
D. Illiteracy of the farmers

13 In the Baluchistan province, shortage of under cultivation are is due to:

A. Deficiency of resources
B. Severe shortage of water
C. Physical features of mountainous
terrain
D. Shortage of human terrain

14 In Punjab province, irrigated are is:
A. 14.87million hectares
B. 10.0million hectares
C. 12.0million hectares
D. 15.2million hectares

15 Irrigated area in Baluchistan province is:
A. 2.0 million hectares
B. 5.0million hectares
C. 0.80million hectares
D. 1.07million hectares



D. 1.07million hectares


